H & 0l & AHS B Ml A

20248 =0ila LEHSIH 2] H 1
S B
33 80 =Y
Sl HEZARIAAR 2= (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AL 231,499,845 217,926,180 13,573,665
sE8el HE=29 2,497,452 2,431,575 65,877
ME2e|AMAE A= 125,212 140,260 15,048
Hg - MEZ 8t 49,072 63,060 13,988
201 fer= 3| 41,600 45,250 A3,650
01 At 2|l 41,600 45,250 23,650
O20232| HHE 2ot 2 38,000
— 24N JE 70,0003 2005 14,000
—2AAN RN S RIF
20,0002 x 1005 2,000
—ZARAARIR 2
200, 0002 x5 x20 20,000
—ZMN 2Y2E 2
2,000,000 2,000
oA us =29 15,0003 #2402 3,600
203 HR=4AH] 3,122 4,460 1,338
03 A= PR FA| 3,122 4,460 1,338
OslA2te] gF=a 4,460,0003%0.7 3,122
301 LEtE NS 3,600 3,600
14 0Bt 2as 3,600 3,600
OZ &S ARIE W=04H|
200,000 x5 2 2,000
OZ LB AR A SAHI
16,0003 x5 20 1,600
307 gl2to| & 750 750
12 IZ2HRIRAE =] 750 750
OZNBARE S WS
150,000& +5& 750
MH22H 23 28,760 29,960 1,200
201 =3 28,760 29,960 21,200
01 At2t2lt] 28,760 29,960 A1,200
OMSME S2AHAMN B&E =5
20,000,000& 13 20,000
Ool+ie fHLH(HSME 0I5 DXl
= 20,0008 240 4,800
ORIVDIXIAM 820t 2 ==28
165,0003 6 *43] 3,960
HEE2S2E I 15,000 12,000 3,000
201 er2 3| 15,000 12,000 3,000
2 352484l 15,000 12,000 3,000
OHBHIRY WEEELER
15,000,000 15,000
Hefae| 23 31,060 33,920 N2,860
201 er=23y| 31,060 31,220 A160
01 AtR2t2|HI 31,060 31,220 A160




A 3HL
M 2880 NWE=2E
Cel: HEZEIAIAE 25 EER=E)
S - BB BR(S) - HIRAY - BSS ol &t G o HIDE2
OUctEH OI8s+2 25,0003 6801 17,000
O ENEELIECER
100,000& 14 «62] 8,400
OHABBDIAIAL R B4
471,503+ 123 5,660
M2 23 1,320 1,320 0
201 L2 1,320 1,320
01 AfR 22l 1,320 1,320
OHBM B2 T2 442
660,000 *22 1,320
g 2,372,240 2,291,315 80,925
SYRLMAHI(SH) 1,499,895 1,379,745 120,150
204 AP AH| 1,499,8% 1,379,745 120,150
02 SEH23HI 1,499,8% 1,379,745 120,150
OE+gREESRE 234l 1,499,89%
-SSR
150,000& x15F 123 27,000
—IMNEESRE 80,0003 23« 128 22,080
—Heggze
100,000& *170F « 122 204,000
—0E  SEEISRE
100,000& x6H 122 7,200
—SRE - SR HHEE3RE
60,000 7 =128 5,040
—SAZ 2SI 200,000 x12F 122 28,800
—OtssttiEE =
50,000& *13H 128 7,800
—e &=l 50,0003 1,791+ 123 1,074,600
—CHRIESHI(AIZHAI)
50,0002 *35/40+235% « 122 123,375
AZXS(E) 583,491 579,142 4,349
307 212+01™ 581,491 577,142 4,349
07 gskles 581,491 577,142 4,349
ORXSH(MHEEZ, AHLZ2(2)
3,536,5002 «134H 473,891
OJIEtd & BR3 &&=
6,725,000& « 16 107,600
309 HE= 2,000 2,000
2 SRS 2eISHIYHES 2,000 2,000
Osfd =0 L= Md =LUHHEsS 2
& 1,000, 000& *23] 2,000
JItMZ22% 2E8REs 288,854 332,428 N43,574
101 Q124H| 288,854 332,428 N43,574
04 JIRHHZ2Z2REE S 288,854 332,428 N43,574
QL= R == 288,854




S B
33 X0 HE=2Y
el RN (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—NEES 10,987,200,00021*1.75% 192,276
— & HEE 10,987,200,0002 +0.87%% 96,578
2 A (3t 229,002,393 215,494,605 13,507,788
IR HHI(EZ) 228,646,918 215,105,625 13,541,293
SREsN 148,924,276 138,612,292 10,311,984
101 @124H| 148,924,276 138,612,292 10,311,984
01 &= 148,924,276 138,612,292 10,311,984
OFJI==) 105,169,455
—1=2(SH) 9,868,660 1 *12& 118,424
—2=(H=H) 10,159,000« 1H* 122 121,908
—3=(A=SH) 9,356,830« 1H« 122 112,282
—42(HSH) 8,348,730 x14E 12 1,402,587
—5=(SH) 7,373,678 137 H* 128 12,122,327
—62(058) 4,449, 5002 «553H x 123 29,526,882
—7=2(17583) 3,430,200 «700E x 122 29,260,714
—82(723) 2,305,900 «725& * 122 20,061,330
—92(65838) 1,922,300 x405H 122 9,342,378
—XEM(17E8) 3,436,800 x4H*12& 164,967
—ATAH0ES) 3,872,200& x1E« 122 46,467
—d23HA(2r28)
4,000, 20021 +2% 12 9,381
~2EN (135 L) 3,134, 7002 6% 128 225,609
—202411 010142
102,604,346,0002 *2. 5% 2,565,109
o832+ 90,944,988,450& %0.4/12+23] 6,063,000
O=g 14,633,040
—d2+gtta 1,791,600
- 253904 130,000 x5002 * 122 780,000
- 208014 2502
110,000 1502+ 12 198,000
- 154014 20E0/ et
80,0002 x270E «12& 259,200
- 10014 15012t
60,0002 x270H = 123 194,400
- 5014 10&0(2
50,0002 «600H * 122 360,000
—HeERAE 1,136,863
- 55 7,373,678 *78%* 108 %4 1%+ 12& 28,298
- 6= 4,449,500 +300& +4. 1%+ 122 656,747
72 3,439,200 x250& #4.. 1%+ 122 423,022
- 82 2,305,900 *20E #4 1%+ 12& 22,691
- XIS A 4,232,600 =284 1%+ 12 4,165
- AL 3,941,500 x 1 %4 1%+ 123 1,940
—JE=4 80,0002 *1,700E*12& 1,632,000




SA: 3D
A HZYR2AZHI(SAL)
ohel oleiedy|(£2) CLELE
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S0IEE+Y
1,500,0002 x 150 123 2,700,000
—fg2fse 45,0002 «100E* 122 54,000
— SRy 2,262,720
JledeE=xE 30,0002 +630E «12& 226,800
- kt= 25,0003 x5002 123 150,000
EELEES 50,0002 602 122! 30,000
HeSH(ED)
270,000 x23H 122 74,520
- HEXNRY 100,000 x20E « 12& 24,000
R 50,0003 x200H 122 174,000
AbAl =g 20,0003 62+ 122 14,880
sS2FRre 70,0002 *443H 122 372,120
o3 22+E 60,0003 ~49 122 35,280
A2 SX SR
70,0003 %4002 12 336,000
- S (MBISTAMHEE §)
30,0002 *320H 123 115,200
ARAP R 80,0002 x2& =122 1,920
A2 252
150,000& x70E « 12& 126,000
SRARerE
100,000 x460& » 122 552,000
Bl 24 50,0003 x50 122 30,000
— R 200,000&x10& 128 24,000
—2e|gRE 500,000 x 12 122 72,000
—DEHIRAE 50,0002 x36H * 12& 21,000
—ZU2RFE 4,542,544
62 12,5312+3162+28AI 2+ 12& 1,330,492
= 11,3193 #2028 2t 12 1,597,338
= 10, 1622 x303& *28A1 2+ 123 1,034,573
= 9,620 * 1712 +28A( 2+ 123 562,727
X EAHA1SS0I4)
11,8162 x2S +28A1 2t 122 7,941
XIS AH20&E0l5t)
11,0742 %28 +28A1 2t 122 7,442
A AL 12,0782« 18 =28A[ 2+ 123 4,059
degdzizn(uz
11,8623 x2& +28A1 2t 123 7,972
—SUSRE T U2RE 396,313
62 12,531 +B8E*67 Al 2t 122 80,600
= 11,3192 x 13267 A 2+ 123 118,307
= 10, 1622 «8E *67 Al 2+ 123 65,362
= 9,620 xQH+67 A2+ 123 69,611




SA: 3D
A HZYR2AZHI(SAL)
ool QIARAH|(BZ) (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ORI2P4E(HLF 20,365 HHIE)
28,9043 x 12 x152x 12 62,433
OYHIAMHI 4,435,200
—2eHy 140,000& »2,640F « 12& 4,435,200
OE &=l 9,094,499
— ey 90,944,988, 450 *1/12+60%+23 9,094,499
OLIIH Al 2,512,382
— iyt
(105, 169,485,000:2! *1/12+86%) *1/30+ 10 2,512,382
O A +g 65,430,000 20 1,308,600
OXg2xH] 5,708,100
—AE 750,000 «1H*12& 9,000
—SANE 650,000« 1H =122 7,800
—3= 500,000& x1&~12& 6,000
—43 400,000& x14E 12 67,200
—55 250,000& «138H 122 414,000
—62(HPAL XA M2 EA 2
185,000 x062& * 12 1,247,640
72 180,000& *711&12& 1,535,760
—8=, 9= 175,000 %1,131&«12& 2,375,100
—ASRH 45,600
- SLEyI 300,0003 x5+ 122 18,000
CHS RIXHRIEHA
100,000 x5 * 122 6,000
WEXIAH| 600,000 «3F 122 21,600
JIEtR S 15,353,609 13,681,993 1,671,616
101 @124H| 15,353,609 13,681,993 1,671,616
02 JIEtME = 15,353,609 13,681,993 1,671,616
OHESIIA R,726
—Jl2=s 7,153,580« 1H« 122 85,843
—IIE=E 40,0002 x1&* 122 480
— gl 140,000 x 18 * 122 1,680
—SItE 4]
(85,843,000 * 1/ 12x84%+86%) * 1/30 10 1,723
—A=2x| 250,000 «1H* 122 3,000
OL eI 2,415,497
=2 2,075,658
52 7,103,500 «8H 123 681,936
= 5,643,500 x5 122 338,610
= 4,972,900 16L& * 122 954,797
- 82 4,140,700« 18+ 12& 49,689
0244 S0 E
2,025,032,000& 2. 5% 50,626
—JE=4 80,0002 x18H*12& 17,280




SA: S
M HARAZHI(S AL
el QIEARIH(SR)

RA - BH - SHIEN) - HRAY - BAS ol &t A
— oS HRE 1,312,000 +7F 122 110,208
— 2R 22,619

6= 12,5313 x4 +20A 2t 123 12,030
= 11,3193 x3E+20A[ 2H= 123 8,150
8= 10, 1623 x 1 *20A[ 2H= 123 2,439
—HHSAH| 140,000 +30F < 122 50,400
—oIp A
(2,075,658,0002 *1/12+84%+86%) 1/30% 10 41,652
— g2 X 91,080
-55dE 400,000 x8H 12 38,400
-=aE 250,000 x5« 122 15,000
s8e 185,000 x16E 122 35,520
-s24e 80,0002 12+ 122 2,160
YA BEEY
550,000& x1H«12& 6,600
OAIRHE RIS I 1A 8,882,964
—Jl=a 7,021,280
= 5,376,500 x4+ 123 258,072
- U= 4,624,0003 x13H+ 122 721,344
-Ch= 4,030,700 »23H 128 1,112,474
== 3,576,300 +39F « 122 1,673,709
- 0t= 1,932,600 x133F « 122 3,084,430
02448 S0QIAE
6,850,029,000& *2. 5% 171,251
—ItE= 80,0003 *x120F <122 115,200
— SR (AIZEM)
160,000& 212« 122 407,040
—XU2FE 397,201
= 14,6923 x2H*20A 2t 123 7,053
= 12,5313 x 13 +20A1 2+ 123 39,097
= 11,3192 232 +20A| 2+ 123 62,481
== 10, 1623 x390H+20A| 2+ 128 95,117
- Ot= 9,6203*69H *20Al 2t 12 159,308
s(olsEAHEL)
10, 1622 x7E #40AI 2t 123 34,145
—HHUSAH| 140,000& +212F « 122 356,160
— D2 4|
(7,021,280,0002 *1/12+84%+86%) *1/30% 10! 140,894
— g2 X 413,701
= 400,000 *35/40+4 K+ 128 16,800
- U= 250,000 *35/40+13H 122 34,125
ths 185,000 #35/40+23& » 123 44,678
el 180,000 *35/40+39 » 122 73,710
= 175,000& x35/40x 133« 12& 244,388




S 51
A HZYR2AZHI(SAL)
Eel: ol 2AH|(SE) (S 2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
YR E 1,312,000 x2&* 122 31,488
OEtAIZ I 746,501
—Jl2=s 1,747 120327 B+ 123 566,067
—IE=g 80,0002 x10& 128 9,600
—zn294Y
9,620 =27 H*20A1 2+ 123 62,338
— NI 140,000 <27+ 122 45,360
—CtE &I
(566,067, 00024 *1/12+86%)*1/30+102 13,523
~ X3 x|
175,00021535/40+27% x 128 49,613
or-EEE 2,617,453
—l=3 1,777,331
29(3152) 4,443,30021+3% 122 159,959
AN(BIZE) 4,161,300 x4+ 122 199,743
=d(1258) 2,602,800 *44% + 122 1,374,279
20248 SOIRIAE
1,733,981,000& *2. 5% 43,350
—&d2=¢ 1,777,331,000& 0.4/ 12+23] 118,489
—d2rgotit=s 45,600
2580 & 130,000& x20EH « 12 31,200
15E0(2t 60,0002 202+ 122 14,400
—ItESE 80,0002 x40 122 38,400
—gd==g 70,0002 8 122 6,720
—HAFE (D) 270,0002 «8H 12 25,920
e e ] 1,200
o3l2e+g 50,0008 x2& * 122 1,200
—x==22FE 190,220
=Ry 12,6102 x 1 +20A1 2t 122 3,027
=0 11,8372 *20A 2H+ 123 5,682
=& 9,685 %27 H*20A1 2+ 123 62,759
- (X =)
10,0512 +8E+67 Al 2t 123 64,649
ORtZ2sg (N =2m)
26, 79928152« 12 38,591
FLI2PE (M=)
80,7013 x8H 2« 122 15,512
—ZHIAHI 140,0003 51~ 122 85,680
-2
1,777,331,000& *1/12+60%+23] 177,734
—SotE 4
(1,777,331,000& *1/12+86%) +1/30% 102 42,459
—H=2 2| 107,700
=hy 185,000& 32+ 123 6,660
A 180,000& x4~ 123 8,640




SA: S0 D
HzH: Y SAAH|(AH D)
Gl A2 HH(SZ) (SH9: &)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
=4 175,0003 x44H 122 92,400
OalR2s 598,468
=J|I2a 439,837
- 832 1,850,230& 10 122 222,028
- 932 1,815,070& *» 10 * 122 217,809
— X222 23,739
=Eag=y 10, 1622 x10H *10A 2H 128 12,195
ogAatE 9,620& *10H x10A| 2+* 128 11,544
—HHZAM| 140,0002x20H 128 33,600
—YHESIH| 439,837,000 0.6/ 12%23] 43,984
— I A
(439,837,000 *1/12%86%) x1/30% 10! 10,508
E=E 40,0003 *10Y~12& 4,800
— Az EX| 175,0002x20H 128 42,000
22330 15,725,098 14,741,271 983,827
101 Q124d| 15,725,098 14,741,271 983,827
03 222 (2IHH) 2224 15,725,098 14,741,271 983,827
Os2A 15,725,098
=JI2a 12,301,522
QUIAIR(1622)
2,451,690&x120 122 3,530,434
SHAML (145 E)
2,409,003 818128 2,341,636
HALOIBH 125 2)
2,366,490 xpH x 122 2,726,197
HAIEH| (145 2) 1,297,866
HAST M2
2,409,003 *37H 128 1,069,636
X2, 2H)
2,409,000 *165/209« 10« 12& 228,230
- AEEs2e|(1688)
2,451,690 x10Y~12& 294,203
HAAIE (215 2)
3,158,000& *31H+ 12& 1,174,776
C2EX(BEE)
3,535,400 x 158 x 12& 636,372
20248 S0 QAR
12,001,484,0002& *2. 5% 300,038
=& 80,0003 *300H 128 288,000
—ol2s4+== 40,000&*319+ 122 14,880
—XHLH 300,000 16 128 57,600
— A=Y 200,000& x5+ 12& 12,000
—j 2t A B =G 50,000& *55Y + 12& 33,000
— G 30,000& =20+ 12& 7,200




SA: 3IHD
M. HYSAAH|(SH D)
Gl A2 HH(SZ) (CH9: &S1)
SA - BB -GS - MRAY - BES ofl b0 G o MimE=EY
—ANEH2XAE
60,0003 x37H x12& 26,640
— Ut G 50,0003 *30H *12& 18,000
— =g 200,000& *10H x 128 24,000
— X 50,0002 * 100+ 128 60,000
— AR DAY 534,983
WNEEIET
20, 3702497 <7 A2+ 128 165,975
sae
20,0303 *33H *7 Al 2t+ 122 55,524
- HALDISH
19, 7003 x4 *7 Al 2H+ 128 89,360
- HAFEH|
20,0303 *40H *7 Al 2t*12& 67,301
CHAAIA
25,950 *11H*7 A 2+ 128 23,978
- XHeSE2ted
20,3702 *4H 7 A| 2+ 12& 6,845
RS
150, 0003 *30H * 1« 123 54,000
=R
40, 0002 %302 x5« 122} 72,000
—FHUZAH 140,000 *400% * 122 672,000
—"HESIH|
12,301,522,000 & *1/12x60%*23| 1,230,153
— A A 111,280 400 10 445,120
aggz 48,643,935 42,317,943 6,325,992
M4 A= REE2S 48,643,935 42,317,943 6,325,992
01 H28E= 39,194,990 32,871,312 6,323,678
o282 9 283 32,115,425
—oiarea 13,721,631, 0002 3,721,631
—2F3 185,795,894,0002 9. 18,393,794
OsIx+g a3
185,795,894, 0003 *3.4675% 6,442,473
OXo2a 2=
185,795,8%4,000& *0. 177% 328,859
OEsgse=2 308,233
—=01H= 674,068,000 *4. 5% 30,334
-89 15,579,308,000& *1.75% 272,638
— A2 S 598,468 ,000& *0.87% 5,261
02 20AHUBEZ2 6,641,159 6,543,684 97,475
O=01AH2AUEE 166,065,720,0002! *3.545% 5,887,030
OLoZE)|IQAUSE
5,887,030,000& *12.81% 754,129
M4 22F(IH) 22X HE283 = 2,807,786 2,902,947 N95, 161
oBggd"=2 1,799,786




SA: 3D
A HZYR2AZHI(SAL)
ool QIARAH|(BZ) (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—=8le= 16,725,098,000& *4. 5% 707,630
—ALES 15,725,008, 0002 *3. 545% 557,455
—LOIIIQAEH
557,455,000 *12.81% 71,410
—1NEES 17,622,298,00021*1.75% 308,391
— & HEE 17,622,298,0002 +0.87%% 154,900
029X 22X =3
31,500,000& x32& 1,008,000
Jl=23sl 365,475 388,980 A\33,505
JI23Hl 365,475 388,980 A\33,505
201 et 3| 27,935 34,620 6,685
01 At2t2l] 26,784 33,480 26,696
ORAM2E71=3| 26,784
— 22| 40,0002 «31H*122+0.8 11,904
—=&H| 50,0002 +31&x12&+0.8 14,880
02 S3=gHl 1,151 1,140 "
OFRUZE AIE= 20,0002+ 122 240
OoRERs 2,530 *302x 122 M
202 04| 35,712 44,640 8,928
01 2LHoIH 35,712 44,640 A\8,928
Oge=dII=20H|
120,000 312 *122+0.8 35,712
203 gR=| 3,888 4,860 A972
M A2 LIFAI 3,888 4,860 A972
ORANEgg =AY
(400,000 15,0002 1 ) 122808 3,888
204 MNP AH| 287,940 304,860 16,920
01 MG HR=HAHH| 287,940 304,860 216,920
OMfd 253H| 287,940
—AE 1,125,000« 1E 12 13,500
—2,35 900, 0003 «2H *12& 21,600
—4=2(73¥E, =%)
380,000 x14H« 122 63,840
—52 (1, %)
120,000 130« 12& 187,200
—62(2AHEAH)
50,0008 x3& * 122 1,800




